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AN UASAHD
M DHAE AEHH 2
el DIEALIA BE S CEEED
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
SEEEEEE R N EES
1,100, 000& »4CH 4,400
ORQoIALZI| FANES 1,600, 0002 = 1CH 1,600
OxsE MEES2E It 53,3008 *13H 693
oozt & EXOIEH= =@ HEESEEIH
2 130,000& *14H 1,820
OSgoAzE? WHSELE It
164,560 52 823
OF2ISE23 23 23E(SIN)
3,400& =1,9000H 6,460
202 O4dl 3,500 3,500 0
01 = LHA YI 3,500 3,500 0
o2 ol 3,500
IIE2HSEARHE BHXA 56,205 45,770 10,435
= 56,205
101 @124 39,344 32,089 7,305
= 39,344
04 JIZHHZ2REES 39,344 32,039 7,305
OJNEHAHSEMRHEZH EX o= 39,344
= 39,344
201 Let24d] 5,620 4,577 1,043
= 5,620
01 At 2teltl 5,620 4,577 1,043
OB HEEANR M H SFFH 5,620
= 5,620
202 O4dl 11,241 9,154 2,087
= 11,241
01 = LHAYI 11,241 9,154 2,087
OJNEAAHSEMNRHEIBHI 11,241
= 11,241
IIESZHESAR(XA) 3,300 3,300 0
201 L2l 3,300 3,300 0
02 =224l 3,300 3,300 0
ONMARHLE RAE+ 275,000 1205 3,300
CAAR B X2 10,030 17,023 ~6,993
= 10,030
201 Let24d]| 7,522 12,703 A5,181
= 7,522
01 At 22l 7,522 12,703 A5,181
Ooizzel dRFM(EULAMREES) 3,812
= 3,812
Oz zel =& Sl 2,000
= 2,000
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2A: A2 AL
MM DMAS AAHF D
ol DIRAEIA B S (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFYL a2 3l bl 510
2 510
QALY X 2= (AoHEHD])
200,000 x3H x23| 1,200
= 1,200
202 044 2,508 4,320 N1,812
= 2,508
01 2L Y| 2,508 4,320 A1,812
o2 R4 2,508
= 2,508
MAHABH F0IH &2 1,314,530 1,089, 246 225,284
2 335,533
Xl 70,000
Jl 78,000
= 30,690
= 800,307
HEs Esat2e EEHZ 93,988 41,364 52,624
= 48,333
= 45 655
NEZAXI ZAL 28 45,655 41,364 4,291
201 et | 39, 155 34,864 4,291
01 AFR 2t 2| bl 38,763 34,478 4,285
OME Z2AIXIF HAa K0l 616
— AE XA 77,000 48 A 308
—E4dXA Y Z2EXA 77,000 =48+ A 308
OMEZBAXI E2 &9 M=
40,000 1404 23| 1,120
OnxsTEH EY 450,000 *34 1,350
OMEZAIXI g8 Kol 25,000 408 1,000
OMNEZ2AIXI CHE=S MAMAEE 2 1,400
— HP 8002 Xl 45 000& =202 900
— HP 800& 2 50,000 =104 500
OXNIt EEs222 30,232
— AMEXIIN(.1 =) 25,000
— MEXINT7.1 =) 4,578
— oA L OIQuIFEAH S22
100Z X| *43, 6002 *50%*30% 654
OZ2AXIEH & B2 Hiol ¢
11,0003 x605 660
OBSHAEIIRAKS MRS ME
25,0008 x25 625
OBSAAHHA D AA 300
OZeglyd gy (&et) 365,000 x4 Ml E 1,460
02 2324 392 386 6
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SN QIS AD
Ha: JARBE FUBY €2
Sl HEE REade HEHI (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OBsSHMAHUAND EHFHERX A8XE MBS
oHUHE E&(S71) 1,960& 200= 392
202 04| 6,500 6,500 0
01 2L I 6,500 6,500 0
OEX &¢el 2,500
OZAIXIE E4 & X XA 4,000
NE Z2A X ZAF AHA 48,333 0 48,333
= 48,333
101 e1214| 12,928 0 12,928
= 12,928
03 RIHEZZXHE = 12,928 0 12,928
OINE Z2AI X JF ZAF @1 AHH| 12,928,000 12,928
= 12,928
201 LBt | 32,396 0 32,396
= 32,396
01 AP 22| H| 32,301 0 32,301
OMNEZAIXI 2dEE22 26,000,000 26,000
= 26,000
OMEZ2AIXI A 29 3,793,000& 3,793
= 3,793
OME ZAIXIIF ZAH S204AH] 2,508,000 2,508
= 2,508
02 232%4| 95 0 95
O&2339H| 95,000 95
= 95
202 o4 | 3,009 0 3,009
= 3,009
01 2L HI 3,009 0 3,009
O=2U 0 H| 3,009,000& 3,009
= 3,009
FOHO XEHEH 2H 270,586 134,190 136, 396
= 142,000
& 4,730
= 123,856
NEZDEAZ| MASAIG (N E=HFZENE) 11,000 11,000 0
202 04| 2,000 2,000 0
01 2Ll 2,000 2,000 0
OX &4l 2,000
207 I & d| 9,000 9,000 0
02 & AR EHY| 9,000 9,000 0
OXNE==#HNE OI0|A2ZEESAIY
6,000 «1,5000H 9,000
N2 Hel 22 41,106 33,390 7,716
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fA: 2

Ha: JARBE FUBY €2
Sl ZoiH NNHN 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNEBTHEAAY S22 157,780,000& 157,780
= 142,000
< 4,730
s 11,050
IIIEE 22 14,000 0 14,000
101 @124 dl 14,000 0 14,000
04 JI2ZtHZ22HEE =+ 14,000 0 14,000
O 2IINEE LHZA 2 14,000
A== 1,506, 000%62! 9,036
- |SEFF=+Y 301,200%62! 1,808
— 4UEEE % JIEARH 525,930%62! 3,156
NEEHES 2= 376,876 423,812 A 46,936
= 130,000
< 15,400
s 231,476
EXNSEEEANLE 2 38,390 114,744 AT6,354
201 £B-2dH| 35,390 54,060 A 18,670
01 At 22l 4,700 24,700 A20,000
O32EE 28 HA Rl 240,000 x5F 1,200
OBAUHE Y28 MUEX 7Y
500,000& » 14 500
O3AHEEYIRE ARIII |X
300,000 »2CH »32 1,800
OEXNSUAEEAAE M HAHOIZ 2
100,000& 124 1,200
02 2324l 30,690 29,360 1,330
OI® BUEH SPAAY RIS
2,690,000 » 14! 2,690
OEXN.SUAFEANALH 22+
28,000,000 » 14! 28,000
202 044l 3,000 3,000 0
01 = LH o4 bl 3,000 3,000 0
O3238 g2Fa4 2,000
OSIItAL & ARA 2dH SIFR 1,000
ERHEHFAAY 69,986 59,068 10,918
201 ¢et24l 11,600 10,600 1,000
01 At 2t 2l 11,600 10,600 1,000
O Z2HFaAME MRIII FA
300,000& = 1CH*23] 600
O E2Y =LA E22 M 10,000
O2getfAIEE 28 & Hl 500,000%2 1,000
202 04l 4,000 4,000 0
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 4,000 4,000 0
OL2g =2 22 & ANE2 XA 4,000
401 AIEHI L 20 39,500 29,900 9,600
01 A& HI 39,500 29,900 9,600
OE2HF=A HUHAIEE RAE=S 39,500
—ASYSE M AL 2 0BEUl ALY
19,700, 000& 14 19,700
—E2EEH X2 € B+
19,800, 000& =1 19,800
403 Ut SHHSA=0l& 14,886 14,568 318
02 I 2S0CHet A=A 2 & Ar 14,886 14,568 318
OIZNFLTFEALAE SX2el A g
13,168,000& 14 13,168
OE2E=A J2k |RIE=s ALY
1,718,000& 14 1,718
CEREEFAME(BEX) 51,500 0 51,500
= 15,400
i 36,100
401 AIEBIZ 28I 51,500 0 51,500
< 15,400
= 36,100
01 A& Bl 51,500 0 51,500
OEZ2Y =4 Jx=SE 4X 67,000& x100 6,700
< 2,000
e 4,700
OZEYFA HYALES &1 L RNB4
234,000 =100 23,400
< 7,000
e 16,400
OMHRASE XS XN EHs & &
535,000 *40 21,400
< 6,400
i 15,000
NStAIE S HotstE X 217,000 250,000 A 33,000
= 130,000
i 87,000
207 A O H] 217,000 250,000 /33,000
= 130,000
s 87,000
02 & AHJH I 217,000 250,000 A 33,000
OZ 2|8t XIGtAIZE MASALS 217,000
= 130,000
[ia 87,000
ANM2 FFEE =4 573,080 489,880 83,200
= 15,200
Xl 70,000
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SN QIS AD
Ha: JARBE FUBY €2
ool ADAMS HEBY T4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 QI 2H2| & A HI 156,000 120,000 36,000
O AESE DHEFIIAY 4,000,0008 ~ 39= 156,000
J| 78,000
= 78,000
MNASHE UHESZ2 201X XSAE 28,800 28,800 0
501 S A2 28,800 28,800 0
01 212t X2 28,800 28,800 0
OMASHZ AdUHEES=2 NMG(ZXEIH)
9,600,000& 3= 28,800
HIEEE gt AU M2 12,000 10,000 2,000
& 6,000
= 6,000
402 SI2F X201 & 12,000 10,000 2,000
& 6,000
= 6,000
02 BIZtXIEANYE X (0OIETHH) 12,000 10,000 2,000
OVIZER vat AU 22
12,000,000 1= 12,000
& 6,000
= 6,000
SHE HOQI=8 JHZAIL 30,400 3,800 26,600
= 15,200
& 4,560
= 10,640
402 SI2FXHE0| & 30,400 3,800 26,600
= 15,200
& 4,560
= 10,640
03 QI2H2 EF AN HI 30,400 3,800 26,600
OssHEHWFE HEALS 30,400
= 15,200
= 4,560
= 10,640
HESHAY (LRESALD) 114,834 107,214 7,620
olad 2 A Y| 55,626 48,606 7,020
HE ZAIXIJF HAtolARSA 55,626 48,606 7,020
101 21 214| 55,626 48,606 7,020
03 RIAHA*ZZXE S 55,626 48,606 7,020
(OPIE=3=; 1,390,000 22 *12JH & x90% 30,024
OnEdl 40,0003 2 =120 & *90% 864
(@F=Fs] 80,000& 2 x12JH & *90% 1,728
(OESE =y 140,000 x2% 1204 & *90% 3,024
oan=2 1,042,500 *2H x4 3| *90% 7,506
(OFSF=E-p= 695,000 2% 23| x90% 2,502
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AN UASAHD
Ha: YH2AAH(LFEAMD)
Sl ol ) CERED
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OgZE S Ottl 834,000 x2H »23| *90% 3,003
OAlZE2A=E 11,8403 «2H +15A1 2Fx 1200 & x90% 3,837
O¢xt=¢ 63, 160 x2H «20L «90% 2,274
ONEZ (R XA) 40,0003 1 »1200 2 *90% 432
ONE4Y(2YIS)
20,0003 »2H 1201 & «90% 432
ZHl 59,208 58,608 600
2 SALL D=3l 59,208 58,608 600
201 Let24d] 23,328 23,328 0
01 At 22l 23,328 23,328 0
OZ 0ol &t 18,663
OS gt S0 at 4,665
202 044l 28,080 28,080 0
01 = LH o4 1l 28,080 28,080 0
OF ol &t 28,080
203 ¥ S =&l 7,800 7,200 600
03 AIZ=XH =AY 3,000 3,000 0
O SAL A=A SR =EH| 3,000
04 FN2ELSZ=TH| 4,800 4,200 600
OASALL 2AN2 4,800
X S a9 2 gd &2 1,115,927 1,142,780 A 26,853
= 892,741
= 111,593
s 111,593
M , 115,927 1,142,780 A 26,853
= 892,741
< 111,593
[ia 111,593
FHEN , 115,927 1,142,780 A 26,853
= 892,741
< 111,593
s 111,593
301 et a = 765,927 639, 960 125,967
= 612,741
< 76,593
[ia 76,593
01 MEIBEE 263 765,927 639, 960 125,967
O=Ha0 765,927
= 612,741
< 76,593
s 76,593
403 Ut SHHSA=0l& 350,000 502,820 A 152,820
= 280,000
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X ZH -
L= B

el

01 21 = AL Dt
HASSE o9 & g4 =2
INzMERE

= - — SHE|
SN HH-S(BN) - MBAY - B e

< 35,000

s 35,000

02 B 2SOICHe 2R E A I 350,000
O I XA 350,000

= 280,000

< 35,000

[ia 35,000
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